A Dreadful Problem - 511 2006-01-17

#include <iostream>

#include <sys/time.h>        

#include <sys/resource.h>        

double getcputime(void)        

 { struct timeval tim;        

   struct rusage ru;        

   getrusage(RUSAGE_SELF, &ru);        

   tim=ru.ru_utime;        

   double t=(double)tim.tv_sec + (double)tim.tv_usec / 1000000.0;        

   tim=ru.ru_stime;        

   t+=(double)tim.tv_sec + (double)tim.tv_usec / 1000000.0;        

   return t; }        

int combs(int n, int r)

{ if (r==n)

    return 1;   

  else if (r==0)

    return 1;   

  else

    return combs(n-1, r-1) + combs(n-1, r); }

void main(void)

{ while (1)

  { int N, R;

    cout << "Enter N and R: ";

    cin >> N >> R;
    double t0 = getcputime();

    int C = combs(N,R);

    double t1 = getcputime();
    cout << "C(" << N << "," << R << ") = " << C << "\n";    

    cout << "and it took " << (t1-t0) << 
            " seconds to work it out\n\n"; } }

$ CC combs.cpp

$ a.out

Enter N and R: 7 3

C(7,3) = 35

and it took 1.4e-05 seconds to work it out

Enter N and R: 20 5

C(20,5) = 15504

and it took 0.001115 seconds to work it out

Enter N and R: 20 10

C(20,10) = 184756

and it took 0.015093 seconds to work it out

Enter N and R: 25 12

C(25,12) = 5200300

and it took 0.411008 seconds to work it out

Enter N and R: 25 10

C(25,10) = 3268760

and it took 0.259128 seconds to work it out

Enter N and R: 30 15

C(30,15) = 155117520

and it took 12.5998 seconds to work it out

Enter N and R: 30 10

C(30,10) = 30045015

and it took 2.27194 seconds to work it out

Enter N and R: ^C

$ 

